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ZOHhiRdt (BERE. FIEMER 28,000 # 1,000 #%& 29,000 #
& it 2,149,341 % 871,437 #& 3,020,778 #%
RERAE T E R 328,990 #%& 74,700 #% 403,690 #%&
REE - EAE SR, 1N ERRE 533,787 #& 293,700 #%& 827,487 &
ZDOiERR. BRSBTS 325,090 #% 140,200 #* 465,290 %
BRE& 1,450 #% 850 #% 2,300 #®
REME 0 #% 0 #% 0 #%
i RER ERME 0 #% 0 #% 0 #%
;ﬁ REFES 0 #% 0 #% 0 #%
. REEGS 100 # 50 #% 150 #&
RRRERS 0 #% 0 #% 0 #%
B RRXEA R GERR) 750 #%& 0 #% 750 &
ERRERER (BEE. B 700 #%& 800 #* 1,500 #%&
Z O (T BRI %) 250 % 50 #& 300 #%
& it 1,189,567 #& 509,500 #& 1,699,067 #&
7 & # 959,774 & 361,937 #% 1,321,711 #&




SH2E7R10BRE
RERFROOFIAIL ABRAE R FAL

B R DRERICHRHIKRICONT

2 B8R
(1) B SAETE TE E RS (9HVAT)

SR THER-H IO RUTI—RL—)LRIEHA3s B S DEERHR
(2) 1B HERME (69HMT)

SR THER-H IO RUTI—XL—)LRIEHA3s B S DEERHR
(3) Z Dt - H RIS BT F (436\F7)

SR THER-H IO RUTI—RXL—)LRIEHA3s B L DEERHR

() SHRORATE
X5 ' 8 B WMAFER
How 347,000 #%|7A+4A
EBEA [ 304,000 #|7A+4A
How 304,000 %|7ATA
EESCEEI Al 14,000 #&|7A T4
o AR Ao 40,000 #|#HV>:4BCHK:TAFRE, 15K :8AH4)
A TI—RY—ILE 100,000 #*|105G#& (7R %)
= &t 1,109,000 #%
(5) ERMEF~ O ftiskin
X % WA 5> IT—RL—LE & &t
EiR 1,437,000 # 696,000 # 2,133,000 #*
HERE (KRS -EEE) 16,000 #* 1,000 #% 17,000 #%
% RRH 34,551 #& 16,237 % 50,788 #
g BEA 894,790 #% 329,200 #* 1,223,990 #
ZOHhiRE (A, BIR. FIEER) 29,000 #% 2,000 #% 31,000 %
& it 2,411,341 % 1,044,437 #& 3,455,778
RRRAETEE ERAEE 328,990 #% 74,700 # 403,690 %
REE - EAE R, B EREE 533,787 #& 293,700 #% 827,487 %
Z Ot HRZSERAE 325,090 #% 140,200 #% 465,290 %
BRE& 1,450 #% 850 # 2,300 #
REMR 0 #% 0 #% 0 #%
R BEHEMR 0 #% 0 #% 0 #%
;ﬁ BEFIME 0 #% 0 #% 0 #%
. BEEH= 100 #& 50 % 150 #%
RRRERS 0 #% 0 #% 0 #%
R 2HRX AR CHRR) 750 #%& 0 # 750 #®
EARBER(FAE. BK) 700 % 800 # 1,500 #%&
Z DA (THHEBI %) 300 # 50 & 350 #
& it 1,189,617 # 509,500 # 1,699,117 #&
123 & H 1,221,724 #& 534,937 #& 1,756,661 #&




2 pFER
(1) BRRGEHEE EARBES (9 AT

LARTHER- TV RUPTz—RO—ILRE#H3, A AL DEERER

(2) 15 HERHES (70 F7)

LARTHER- TV RUPTz—RO—ILRE#H3, A A S DEERER

(3) T fihiERR - 1 R BATE (4350\A)

LARTHER- TV RUPTz—RL—ILRE#H3, A S DEERER

SH2E7R17TARE
RERFROOFIAIL ABRAE R FAL

MHEAEDHERICRDIKRIZONT

() SHRORATE
X5 ' 8 B WMAFER
How 304,000 #|7A+4A
- How 304,000 %|7ATA
How 304,000 #|8A LA
TI—ARY—ILR 172,000 #|sR LA
EESCEEI Al 14,000 #&|7A T4
BEEA |BhER-AHY 10,000 # |~ :1BE@RH4)
& ) 1,108,000 #
(5) ERMEF~ O ftiskin
X % WA 5> IT—RL—LE & &t
EiR 1,784,000 # 796,000 # 2,580,000 #*
HERE (KRS -EEE) 16,000 #* 1,000 #% 17,000 #%
% RRH 34,551 #& 16,237 % 50,788 #
g BEA 923,790 # 329,200 #* 1,252,990 #
ZOHhiRE (A, BIR. FIEER) 29,000 #% 2,000 #% 31,000 %
& it 2,787,341 % 1,144,437 #& 3,931,778 #%
RRRAETEE ERAEE 328,990 #% 74,700 # 403,690 %
REE - EAE R, B EREE 533,787 #& 293,700 #% 827,487 %
Z Ot HRZSERAE 325,090 #% 140,200 #% 465,290 %
BRE& 1,450 #% 850 # 2,300 #
REMR 0 #% 0 #% 0 #%
R BEHEMR 0 #% 0 #% 0 #%
;ﬁ BEFIME 0 #% 0 #% 0 #%
. BEEH= 100 #& 50 % 150 #%
RRRERS 0 #% 0 #% 0 #%
R 2HRX AR CHRR) 750 #%& 0 # 750 #®
EARBER(FAE. BK) 700 % 800 # 1,500 #%&
Z DA (THHEBI %) 300 # 50 & 350 #
& it 1,189,617 # 509,500 # 1,699,117 #&
123 & H 1,597,724 #& 634,937 #& 2,232,661 #&




2 pFER
(1) BRRGEHEE EARBES (9 AT

LARTHER- TV RUPTz—RO—ILRE#H3, A AL DEERER

(2) 15 HERHES (70 F7)

LARTHER- TV RUPTz—RO—ILRE#H3, A A S DEERER

(3) T fihiERR - 1 R BATE (4350\A)

LARTHER- TV RUPTz—RL—ILRE#H3, A S DEERER

SH2E7R27AR%E
RERFROOFIAIL ABRAE R FAL

MHEAEDHERICRDIKRIZONT

() SHRORATE
X5 ' 8 B WMAFER
How 304,000 %|7ATA
Eirft [Ho> 304,000 #|8A LA
TI—ARY—ILR 172,000 %8R LA
EESCEEI Al 14,000 #&|7A T4
BEEA |BhER-AoY 10,000 #|A~>:1BE@RH4)
& &t 804,000 #*
(5) ERMEF~ O ftiskin
=3 7 BhzERR- > T—RI—JLF a B
EiR 2,088,000 #* 796,000 # 2,884,000 %
HERE (KRS EEE) 16,000 #* 1,000 #% 17,000 #%
% RRH 34,551 # 16,237 % 50,788 #
g BEA 923,790 # 329,200 #% 1,252,990 #
ZOHhiRE (A, BIR. FIEER) 29,000 #%® 2,000 #% 31,000 %
& it 3,091,341 #% 1,144,437 #& 4,235,778 ¥
RRRAE T E R 328,990 #% 74,700 # 403,690 %
REE - EAE SR, T ERUEE 533,787 # 293,700 #% 827,487 %
ZOtHER. HRZSERAE 325,090 #% 140,200 #% 465,290 %
BRE& 1,450 #% 850 # 2,300 #
REMR 0 #% 0 #% 0 #%
R B EMR 0 #% 0 #% 0 #%
;ﬁ BEFI 0 #% 0 #% 0 #%
. BEEH= 100 #& 50 % 150 #%
RRERERS 0 #% 0 #% 0 #%
R 2MR2 AR CHBR) 750 #%& 0 # 750 #®
EARBER(FAE. BK) 700 % 800 # 1,500 #%&
Z DA (TEHEBI %) 300 # 50 & 350 #
& it 1,189,617 # 509,500 # 1,699,117 #&
123 & H 1,901,724 #& 634,937 #& 2,536,661 #&




2 pFER

(1) BRSRAEHE E E SR (9H )
LARTHER- TV RUPTz—RO—ILRE#H3, A AL DEERER

(2) 18 HERHE (T0H )
LARTHER- TV RUPTz—RO—ILRE#H3, A A S DEERER

(3) T fihiERR - 1 R BATE (4350\A)

SH2E7RAIARE
RERFROOFIAIL ABRAE R FAL

MHEAEDHERICRDIKRIZONT

LARTHER- TV RUPTz—RL—ILRE#H3, A S DEERER

() SHRORATE
X5 ' 8 B WMAFER
How 304,000 #%|sA LA
TI—ARY—ILKR 172,000 %8R LA
—_— How 174,000 #*|8A+4a
TI—ARY—ILR 86,100 #|8A+A
How 174,000 % |8ATHA
TI—ARY—ILKR 86,100 #®|sATHa
EESCEEI Al 14,000 #|sAT4a
BEEA |BhER-AoY 10,000 # |~ :1B@RH4)
& &t 1,020,200 #
(5) ERMEF~ O ftiskin
=3 7 BhEERR- T—RI—JLF a B
EiR 2,392,000 #* 796,000 # 3,188,000 #
HERE (KRS -EEE) 16,000 #* 1,000 #% 17,000 #%
% RRH 36,551 # 16,437 & 52,988 #
g BEA 923,790 # 329,200 #* 1,252,990 #
Z Ot (A, BIR. FIEER) 43,000 #* 2,000 #% 45,000 #%
& it 3,411,341 % 1,144,637 # 4,555,978 ¥
RRRAE T E R 342,990 #% 74,700 # 417,690 #%
REE - EAE SR, T EREE 534,887 # 293,700 #% 828,587 &
ZOtHER. HRZSERAE 325,390 #% 140,500 #% 465,890 %
ESFERilEN 1,450 & 1,150 #& 2,600 #®
REMR 0 #% 0 #% 0 #%
R BEHEMR 0 #% 0 #% 0 #%
;ﬁ BEFIME 0 #% 0 #% 0 #%
. BEEH= 100 #& 50 % 150 #%
RRRERS 0 #% 0 #% 0 #%
R 2HRX AR CHRR) 750 #%& 0 # 750 #®
EARBER(FAE. BK) 950 % 1,100 #% 2,050 #
Z DA (TEHEBI %) 300 # 50 & 350 #
& it 1,205,017 # 510,100 # 1,715117 #&
123 & H 2,206,324 #% 634,537 #& 2,840,861 #&




2 pFER

(1) BRSRAEHE E E SR (9H )
LARTHER- TV RUPTz—RO—ILRE#H3, A AL DEERER

(2) 18 HERHE (T0H )
LARTHER- TV RUPTz—RO—ILRE#H3, A A S DEERER

(3) T fihiERR - 1 R BATE (4350\A)

SM258RTHBRE

EERFRAOFY ()L RBSE A A
PHERDOHERICFRDIKRIZOLT

LARTHER- TV RUPTz—RL—ILRE#H3, A S DEERER

() SHRORATE
X5 ' B WMAFER
Hov 304,000 #%|sA LA
TI—RY—ILE 172,000 #*|8A LA
——_— Hov 174,000 #*|8A+4a
TI—ARY—ILR 86,100 #|8A+A
Hov 174,000 % |8ATHA
TI—ARY—ILKR 86,100 #®|sATHa
EESCEEI Al 14,000 #|sAT4a
BEEA |BhER-AoY 10,000 # |~ :1B@RH4)
& &t 1,020,200 #
(5) ERMEF~ O ftiskin
X 7 BhEERR- Tr—RY—)LR a B
EiR 2,392,000 #* 796,000 # 3,188,000 #
HERE (KRS -EEE) 16,000 #* 1,000 #% 17,000 #%
% RRH 36,551 # 16,437 & 52,988 #
g BEA 923,790 # 329,200 #* 1,252,990 #
Z Ot (A, BIR. FIEER) 43,000 #* 2,000 #% 45,000 #%
& &t 3,411,341 % 1,144,637 # 4,555,978 ¥
R EIRE EREE 342,990 #% 74,700 # 417,690 #%
REE - EAE SR, T EREE 535,187 # 293,700 #% 828,887 &
ZOtHER. HRZSERAE 325,390 #% 140,500 #% 465,890 %
ESFERilEN 1,840 & 1,150 % 2,990 #®
REMR 0 # 0 # 0 #
R BEHEMR 0 # 0 # 0 #
;ﬁ BEFIME 0 # 0 # 0 #
. BEEH= 100 #& 50 #& 150 #&
BRIRERS 0 # 0 # 0 #%
RRWGREAR CHI - REEEE) 790 #%& 0 #% 790 #%&
EARBER(FAE. BK) 950 % 1,100 #% 2,050 #
Z DA (TEHEBI %) 300 # 50 & 350 #
& &t 1,205,707 # 510,100 # 1,715,807 #
® & & 2,205,634 % 634,537 2,840,171 #&




SH2E8A21ARKE
RERFROOFIAIL ABRAE R FAL

B R DRERICHRHIKRICONT

2 B8R
(1) B SAETE TE E RS (9HVAT)

SR THER-H IO RUTI—RL—)LRIEHA3s B S DEERHR
(2) B2 HERME (844V)

SR THER-H IO RUTI—XL—)LRIEHA3s B S DEERHR
(3) Z D tafEle - H RIS BT HF (4210\F7)

SR THER-H IO RUTI—RXL—)LRIEHA3s B L DEERHR

(4)SROZATE
X5 # H M # MATER
Hrow 174,000 #%|sATH8
TJ—RY—ILK 86,100 #|8ATH
ER
How 174,000 #%|sATH8
TJ—RY—ILK 86,100 ¥|8ATH
EESCEEI Al 14,000 #|9AT4a
= &t 534,200 #%
(5) ERBEBAF~DHHRR
X % MR- 7 JT—RY—ILE =) &t
ER1# 2,696,000 #*& 968,000 #% 3,664,000 #*
PERM (LRE - BEE) 16,000 #* 1,000 % 17,000 #%
% ERRHt 36,551 #& 16,437 #% 52,988 #
g REA 933,790 #& 329,200 #% 1,262,990 #&
ZOHhiRE (A, BIR. FIEER) 57,000 #% 2,000 #% 59,000 %
= &t 3,739,341 #& 1,316,637 #& 5,055,978 #&
AR TE EARAERS 356,990 #% 74,700 #% 431,690 #%
REE - A SR 1N EREE 535,187 #& 293,700 #% 828,887 #%
Z D1t BREERME 325,390 #% 140,500 #% 465,890 #%
ESFERilEN 3,050 #% 1,150 % 4,200 #®
BEMS 0 #® 0 #® 0 #®
i BEREMS 0 #® 0 #® 0 #®
;;ﬁ BEFE= 0 #® 0 #® 0 #®
. BEEH= 100 #& 50 #& 150 #&
BRIREHS 0 #® 0 #® 0 #®
RRMGRBR CHl - RREEE) 2,000 #% 0 #% 2,000 #%
THRERERR (AR, 1ER) 950 & 1,100 % 2,050 %
£ DAt (PCRIRZEtYS—., {TIRIEEIS) 670 #% 570 #& 1,240 &
= &t 1,221,287 #& 510,620 #% 1,731,907 #%
123 & & 2,518,054 # 806,017 #% 3,324,071 #&




S8 A28ARE
RERFROOFIAIL ABRAE R FAL

B R DRERICHRHIKRICONT

2 B8R
(1) B SAETE TE E RS (9HVAT)

SR THER-H IO RUTI—RL—)LRIEHA3s B S DEERHR
(2) B2 HERME (844V)

SR THER-H IO RUTI—XL—)LRIEHA3s B S DEERHR
(3) Z D tafEle - H RIS BT HF (4210\F7)

SR THER-H IO RUTI—RXL—)LRIEHA3s B L DEERHR

(4)SROZATE
X5 # H M # MATER
Hrow 174,000 #%|9A Ltf
ER
TI—R—I)LF 86,100 #|9RLtHA
RER#[Iz—R—ILF 1,000 #|8A31H
EESCEEI Al 14,000 #|9AT4a
= &t 275,100 #%
(5) ERBEBF~DHHRR
X % ET - L JT—RY—ILE =) &t
ER1# 2,870,000 #* 1,054,100 #% 3,924,100 #%
PEIRM (LRE - BEE) 16,000 #% 1,000 % 17,000 #%
% ERRHt 36,551 #& 16,437 % 52,988 #®&
g REA 933,790 #& 329,200 #% 1,262,990 #%
ZOHhiRE (A, BIR. FIEER) 57,000 #% 2,000 #% 59,000 %
= &t 3,913,341 #& 1,402,737 #& 5,316,078 #&
AR TE EARHERS 356,990 #% 92,700 #*& 449,690 #%
REE - A SR 1 EREE 535,187 #& 299,700 #% 834,887 #%
Z D1t BREERME 325,590 #% 141,000 #% 466,590 #*
ESFERilEN 3,050 #% 1,150 % 4,200 #®
BEMS 0 #® 0 #® 0 #®
i BEHEMS 0 #® 0 #® 0 #®
;;ﬁ BEFE= 0 #® 0 #® 0 #®
. BEEH= 100 #& 50 #& 150 #&
BRIREHS 0 #® 0 #® 0 #®
Lt e I S ) 2,000 #% 0 #% 2,000 #%
THRERERR (AR, 1ER) 950 & 1,100 % 2,050 %
£ DAt (PCRIRZEtYS—., {TIRIEEIS) 970 #% 870 #& 1,840 #&
= &t 1,221,787 #& 535,420 #& 1,757,207 #&
123 & & 2,691,554 #& 867,317 #& 3,558,871 #&




SM259R4EBRE
RERFROOFIAIL ABRAE R FAL

B R DRERICHRHIKRICONT

2 B8R
(1) B SAETE TE E RS (9HVAT)

SR THER-H IO RUTI—RL—)LRIEHA3s B S DEERHR
(2) B2 HERME (844V)

SR THER-H IO RUTI—XL—)LRIEHA3s B S DEERHR
(3) Z D tafEle - H RIS BT HF (4210\F7)

SR THER-H IO RUTI—RXL—)LRIEHA3s B L DEERHR

(4)SROZATE
X5 # H M # MATER
Hrow 304,000 #|oRA+a
How 304,000 #|9ATHa
EiR#t |HH> 608,000 #|10A LA
Tr—RI—)LF 150,000 #|oA+f
Tr—RI—)LF 150,000 #|9oATH
EESCEEI Al 14,000 #|9AT4a
= &t 1,530,000 #%
(5) ERBEBF~DHHRR
X % ET - L JT—RY—ILR & &t
ER1# 3,044,000 #* 1,140,200 #% 4,184,200 #®
PEIRM (LRE - BEE) 16,000 #% 1,000 % 17,000 #%
% ERRHt 36,551 #& 17,437 % 53,988 #&
g REA 933,790 #& 329,200 #% 1,262,990 #%
ZOHhiRE (A, BIR. FIEER) 57,000 #% 2,000 #% 59,000 %
= &t 4,087,341 #& 1,489,837 #& 5,577,178 #&
AR TE EARAERS 356,990 #% 92,700 #*& 449,690 #%
REE - A SR 1 EREE 535,187 #& 299,700 #* 834,887 #%
Z D1t BREERME 325,790 #% 141,000 #% 466,790 #%
ESFERilEN 3,050 #% 1,150 % 4,200 #®
BEMS 0 #® 0 #® 0 #®
[ BEREMS 0 #® 0 #® 0 #®
;;ﬁ BEFE= 0 #® 0 #® 0 #®
. BEEH= 100 #& 50 #& 150 #&
BRIREHS 0 #® 0 #® 0 #®
Lt e I S ) 2,000 #% 0 #% 2,000 #%
THRERERR (AR, 1ER) 950 & 1,100 % 2,050 %
Z Dt (PCRIEZE V4. 1TSS SE) 1,250 & 870 & 2,120 #%
= &t 1,222,267 #& 535,420 #& 1,757,687 #&
123 & & 2,865,074 #& 954,417 #& 3,819,491 #&




SH2E9A25A KK
RERFROOFIAIL ABRAE R FAL

B R DRERICHRHIKRICONT

2 B8R
(1) B SAETE TE E RS (9HVAT)

SR THER-H IO RUTI—RL—)LRIEHA3s B S DEERHR
(2) B2 HERME (844V)

SR THER-H IO RUTI—XL—)LRIEHA3s B S DEERHR
(3) Z D tafEle - H RIS BT HF (4210\F7)

SR THER-H IO RUTI—RXL—)LRIEHA3s B L DEERHR

() SHRORATE
X5 ' B WMAFER
——_— Hov 608,000 #|10A LA
TI—ARY—ILKR 150,000 #|9oA T8
EESCEEI Al 14,000 #|9AT4a
& &t 772,000 #
(5) ERMEF~ O ftiskin
X 7 BhzERR- > Tr—RY—)LR a B
EiRf#t 3,652,000 #* 1,290,200 # 4,942,200 %
HERE (KRS -EEE) 16,000 #* 1,000 #% 17,000 #%
% RRH 36,551 # 17,437 & 53,988 #
g BEA 933,790 # 329,200 #* 1,262,990 #
Ot (A, BIR. FIEER) 57,000 #% 2,000 #% 59,000 %
& &t 4,695,341 ¥ 1,639,837 # 6,335,178 #
R EIRE EREE 402,090 #* 95,700 # 497,790 #%
REE - EAE SR, T EREE 679,817 # 306,900 % 986,717 #
ZOtHER. HRZSERAE 459,190 #% 145,400 % 604,590 #
ESFERilEN 3,110 #% 1,150 % 4,260 #®
REMR 0 # 0 # 0 #
R BEHEMR 0 #® 0 #® 0 #®
;ﬁ BEFIE 0 # 0 # 0 #
. BEEH= 100 #& 50 #& 150 #&
BRIRERS 0 # 0 # 0 #%
REMAEIR CHD - RRA%EE) 2,010 #% 0 #® 2,010 #%
THRERERR (AR, 1ER) 1,000 # 1,100 % 2,100 #%
Z Dt (PCRIEZE V4, TSI ) 3,210 #% 1,170 % 4,380 #%
& &t 1,647,417 #& 550,320 # 2,097,737 #%
123 & H 3,147,924 #% 1,089,517 #% 4,237,441 #&




SM25E10H 2B R#E
RERFROOFIAIL ABRAE R FAL

B R DRERICHRHIKRICONT

2 B8R
(1) B SAETE TE E RS (9HVAT)

SR THER-H IO RUTI—RL—)LRIEHA3s B S DEERHR
(2) 1 HERME (865M)

SR THER-H IO RUTI—XL—)LRIEHA3s B S DEERHR
(3) Z Dt - H RIS BT HF (419HVF7)

SR THER-H IO RUTI—RXL—)LRIEHA3s B L DEERHR

(4)SROZATE
X5 # H M # MATER
Eigft |[HH> 608,000 #|10A LA
EESCEEI Al 14,000 #|10ATa
= &t 622,000 #%
(5) ERBEBF~DHHRR
X % MR- 7 JT—RY—ILR =) &t
ER1# 3,652,000 #* 1,440,200 #% 5,092,200 #*
PERM (LRE - BEE) 16,000 #% 1,000 % 17,000 #%
% ERRHt 36,551 #& 17,437 % 53,988 #&
g REA 933,790 #& 329,200 #% 1,262,990 #%
ZOHhiRE (A, BIR. FIEER) 71,000 #% 2,000 #% 73,000 #%
= &t 4,709,341 #& 1,789,837 #& 6,499,178 #&
AR TE EARHERS 416,090 #% 111,200 #% 527,290 #&
IREE - ERE K, 5 H EREE 679,817 #& 344,700 #% 1,024,517 #&
Z 01t BREERME 459,190 #% 174,400 #% 633,590 #&
ESFERilEN 3,120 #% 1,150 % 4270 #%
BEMS 0 #® 0 #® 0 #®
i BEREMS 0 #® 0 #® 0 #®
;;ﬁ BEFE= 0 #® 0 #® 0 #®
. BEEH= 100 #& 50 #& 150 #&
BRIREHS 0 #® 0 #® 0 #®
Lt e I S ) 2,020 #® 0 #% 2,020 #®
THRERERR (AR, 1ER) 1,000 % 1,100 % 2,100 #%
Z Dty (PCRIZE 14—, FTESRI%) 3,440 % 1,170 & 4610 #®
= &t 1,561,657 #& 632,620 #% 2,194,277 &
123 & & 3,147,684 #& 1,167,217 #% 4,304,901 #&




SM25E10HIBR#E
RERFROOFIAIL ABRAE R FAL

B R DRERICHRHIKRICONT

2 B8R
(1) B SAETE TE E RS (9HVAT)

SR THER-H IO RUTI—RL—)LRIEHA3s B S DEERHR
(2) 1 HERME (865M)

SR THER-H IO RUTI—XL—)LRIEHA3s B S DEERHR
(3) Z Dt - H RIS BT HF (419HVF7)

SR THER-H IO RUTI—RXL—)LRIEHA3s B L DEERHR

(4)SROZATE
X5 # H M # MATER
BEA [AVY 120,000 #%|10A T4
EESCEEI Al 14,000 #|10ATa
= &t 134,000 #%
(5) ERBEBF~DHHRR
X % MR- 7 JT—RY—ILR =) &t
ER1# 4,260,000 #* 1,440,200 #% 5,700,200 #*&
PERM (LRE - BEE) 16,000 #% 1,000 % 17,000 #%
% ERRHt 36,551 #& 17,437 % 53,988 #&
g REA 933,790 #& 329,200 #% 1,262,990 #%
ZOHhiRE (A, BIR. FIEER) 71,000 #% 2,000 #% 73,000 #%
= &t 5317,341 #& 1,789,837 #& 7,107,178 #%
AR TE EARHERS 425,390 #% 111,200 #% 536,590 #&
IREE - ERE K, 5 H EREE 718,817 #& 344,700 #% 1,063,517 #&
Z 01t BREERME 488,740 #% 174,400 #% 663,140 #&
ESFERilEN 3,120 #% 1,150 % 4270 #%
BEMS 0 #® 0 #® 0 #®
i BEREMS 0 #® 0 #® 0 #®
;;ﬁ BEFE= 0 #® 0 #® 0 #®
. BEEH= 100 #& 50 #& 150 #&
BRIREHS 0 #® 0 #® 0 #®
Lt e I S ) 2,020 #® 0 #% 2,020 #®
THRERERR (AR, 1ER) 1,000 % 1,100 % 2,100 #%
Z Dty (PCRIZE 14—, FTESRI%) 3,440 % 1,170 & 4610 #®
= &t 1,639,507 #& 632,620 #% 2,272,127 %
123 & & 3,677,834 # 1,167,217 #% 4,835,051 #&




SH2E10R16BRE
RERFROOFIAIL ABRAE R FAL

B R DRERICHRHIKRICONT

2 B8R
(1) B SAETE TE E RS (9HVAT)

SR THER-H IO RUTI—RL—)LRIEHA3s B S DEERHR
(2) 1 HERME (865M)

SR THER-H IO RUTI—XL—)LRIEHA3s B S DEERHR
(3) Z Dt - H RIS BT HF (419HVF7)

SR THER-H IO RUTI—RXL—)LRIEHA3s B L DEERHR

() SHRORATE
X5 ' B WMAFER
BEA |Hor 120,000 #|10A T4
EESCEEI Al 14,000 #|10ATa
& &t 134,000 #%
(5) ERMEF~ O ftiskin
X 7 BhEERR- Tr—RY—)LR a B
EiR 4,260,000 % 1,440,200 # 5,700,200 #&
HERE (KRS - EEE) 16,000 #* 1,000 #% 17,000 #%
% RRH 36,551 # 17,437 % 53,988 #
g BEA 933,790 # 329,200 #% 1,262,990 #
ZOHhiRE (A, BIR. FIEER) 71,000 #% 2,000 #% 73,000 #%
& &t 5,317,341 #% 1,789,837 # 7,107,178 #&
R EIRE EREE 425,390 % 111,200 % 536,590 #
REE - EAE SR, T ERUEE 718,817 # 344,700 % 1,063,517 #
ZOtFER. HRZSERAE 488,748 174,410 % 663,158 #
ESTEATILES 3,250 #& 1,150 #& 4,400 #
REMR 0 #® 0 #® 0 #®
R BEHEMR 0 # 0 # 0 #
;ﬁ BEFIM= 0 #® 0 #® 0 #®
. BEEH= 100 #& 50 #& 150 #&
BRIRERS 0 # 0 #® 0 #%
REMAEIR CHD - RRAEE) 2,100 #% 0 #® 2,100 #%
THRERERR (AR, 1ER) 1,050 #& 1,100 % 2,150 #%
Z Dty (PCRIZE 14—, FTESRI%) 3,440 % 1,170 & 4610 #®
& &t 1,639,645 # 632,630 # 2,272,275 %
123 & H 3,677,696 #% 1,157,207 #% 4,834,903 #&




SH2E11B13ARE
RERFROOFIAIL ABRAE R FAL

MHEAEDHERICRDIKRIZONT

2 piEA
(1NSHBOZATE
=& B & B MATER
BHA |5y 120,000 #|11A®E
& 5 120,000 #*
(2) ERMEIS A~ DIRKR
X o PHEERR-H o> 7z—RAY—)LK & it
EiR 4t 4,260,000 #| 1,440,200 # 5,700,200 #%
PER M (REL - 5HE) 16,000 #* 1,000 #% 17,000 #*
% RASIRH 36,631 % 18,237 # 54,868 &
;i BEEA 933,790 #& 329,200 #% 1,262,990 #
Z DR (A5, BIE. FIEER) 85,000 #& 2,000 #* 87,000 #%
& it 5331421 #&| 1,790,637 % 7,122,058 &
R H E EE A 439,390 #% 111,200 #* 550,590 #%
REE - IEME I 7 E AR 718,817 # 344,700 #% 1,063,517 #%
ZOthm. HRDRAE 489,748 & 174,410 #& 664,158 &
RMEDH- REERULE 127,400 #* 72,900 # 200,300 #%
LS 3444 % 1,150 #% 4594 &
REMS 0 & 0 & 0
Eg REHEMS 0 & 0 0 #
;i REHITS 0 & 0 & 0
REEGS 100 # 50 #% 150 #&
REREHRS 0 & 0 & 0
RBWE R G- REEE) 2,100 #% 0 #& 2,100 #
EABEEMR (TS, %) 1,244 % 1,100 #% 2,344 &
Z D fth (PCRIAZ V8-, {TIRHSEI%) 3,640 # 1,490 # 5130 ®
& it 1,782,439 % 705,850 #% 2,488,289 #%
i & h 3548982 #| 1,084,787 #& 4,633,769 &




SH2E11 208 RE
RERFROOFIAIL ABRAE R FAL

MHEAEDHERICRDIKRIZONT

2 A
(1NSHBOZATE
X4 B &= w MATER
BEA Ao 120,000 #1174
& it 120,000 #
(2) ERBESE~OHRR
X o PHEERR-H o> 7z—RAY—)LK & it
Eieft 4260000 #%| 1,440,200 # 5,700,200 #
PERH (AR BEE) 16,000 # 1,000 # 17,000 #
Z |=mime 36,631 #& 18,237 # 54,868 &
Z |ema 933,790 #% 329,200 #% 1,262,990 #
iR (4. BIRE. FIEER) 85,000 # 2,000 #& 87,000 #
& it 5331421 #| 1790637 #% 7,122,058 #
R f T EE AR 439,390 #& 111,200 # 550,590 &
B AN K. 150 E AR 718,817 #& 344,700 #& 1,063,517 #%
2O, HRBRIE 489,748 & 174410 # 664,158 &
RNEDH-REERLY 127,400 # 72,900 # 200,300 #%&
BEREE 3464 & 1,150 #% 4614 %
REMS 0 % 0 #& 0 #&
- REREMS 0 % 0 #& 0 #&
j‘g REFIETS 0 % 0 % 0 #
= REEHS 100 # 50 # 150 #
RERERS 0 % 0 % 0 %
RAMARER CHlL - REXE) 2,120 #% 0 #& 2,120 #&
EERRMR (FE. EH) 1,244 #% 1,100 # 2,344 &
Z D fth (PCRIAZ V8-, {TIRHSEI%) 5790 #® 1,590 #% 7,380 #®
AR 0 % 400 # 400 #
& 1,784,609 # 706,350 & 2,490,959 #&
i % h 3546812 #| 1,084,287 % 4,631,099 #%




SH2E11B27BRE
RERFROOFIAIL ABRAE R FAL

MHEAEDHERICRDIKRIZONT

2 A
(1NSHBOZATE
X4 B &= w MATER
BEA Ao 120,000 #|11A%
& it 120,000 #
(2) ERBESE~OHRR
X o PHEERR-H o> 7z—RAY—)LK & it
Eieft 4260000 #%| 1,440,200 # 5,700,200 #
PERH (AR BEE) 16,000 # 1,000 # 17,000 #
Z |=mime 36,631 #& 18,237 # 54,868 &
Z |ema 933,790 #% 329,200 #% 1,262,990 #
iR (4. BIRE. FIEER) 85,000 # 2,000 #& 87,000 #
& it 5331421 #| 1790637 #% 7,122,058 #
R f T EE AR 439,390 #& 111,200 # 550,590 &
B AN K. 150 E AR 719,867 #& 344,700 #& 1,064,567 #%
2O, HRBRIE 490,948 & 174510 # 665458 &
RNEDH-REERLY 147,400 # 83,800 #% 231,200 #%
BEREE 3464 & 1,350 #% 4814 #&
REMS 0 % 0 #& 0 #&
- REREMS 0 % 0 #& 0 #&
j‘g REFIETS 0 % 0 % 0 #
= REEHS 100 # 50 # 150 #
RERERS 0 % 0 % 0 %
RAMARER CHlL - REXE) 2,120 #% 0 #& 2,120 #&
EERRMR (FE. EH) 1,244 #% 1,300 # 2,544 &
Z D fth (PCRIAZ V8-, {TIRHSEI%) 6,590 #® 1,890 #* 8,480 #
AR 0 % 400 # 400 #
& 1,807,659 #% 717,850 #& 2,525,509 #
i % h 3523762 #&| 1072787 % 4596549 &




SM25E12H4BR%E
RERFROOFIAIL ABRAE R FAL

MHEAEDHERICRDIKRIZONT

2 A
(1NSHBOZATE
X4 B &= w MATER
BEA Ao 120,000 #|12A%1%
& it 120,000 #
(2) ERBESE~OHRR
X o PHEERR-H o> 7z—RAY—)LK & it
Eieft 4260000 #%| 1,340,200 # 5,600,200 #
PERH (AR BEE) 16,000 # 1,000 # 17,000 #
Z |=mime 36,631 #& 18,237 # 54,868 &
Z |ema 933,790 #% 429,200 #%& 1,362,990 #
iR (4. BIRE. FIEER) 85,000 # 2,000 #& 87,000 #
& it 5331421 #| 1790637 #% 7,122,058 #
R f T EE AR 439,390 #& 111,200 # 550,590 &
B AN K. 150 E AR 719,867 #& 344,700 #& 1,064,567 #%
2O, HRBRIE 490,948 & 174510 # 665458 &
RNEDH-REERLY 147,400 # 83,800 #% 231,200 #%
BEREE 3564 #& 1,350 #% 4914 %
REMS 0 % 0 #& 0 #&
- REREMS 0 % 0 #& 0 #&
j‘g REFIETS 0 % 0 % 0 #
= REEHS 100 # 50 # 150 #
RERERS 0 % 0 % 0 %
RAMARER CHlL - REXE) 2,120 #% 0 #& 2,120 #&
EERRMR (FE. EH) 1,344 #% 1,300 # 2,644 &
Z D fth (PCRIAZ V8-, {TIRHSEI%) 7,090 #® 2,090 #% 9,180 #®
AR 0 % 400 # 400 #
& 1,808,259 # 718,050 #& 2,526,309 #
i % h 3523162 #| 1072587 % 4595749 &




fi2E12AARE
FEERFRIAOF I ABRE R HEE

MHEAEDHERICRDIKRIZONT

2 A
(1NSHBOZATE
X4 B &= w MATER
ikt [y 25,000 #|i2A®
& it 25,000 #%&
(2) ERBESE~OHRR
X o PHEERR-H o> 7z—RAY—)LK & it
Eieft 4260000 #%| 1,340,200 # 5,600,200 #
PERH (AR BEE) 16,000 # 1,000 # 17,000 #
Z |=mime 36,631 #& 18,237 # 54,868 &
Z |ema 1,053,790 # 429,200 #%& 1,482,990 #
iR (4. BIRE. FIEER) 85,000 # 2,000 #& 87,000 #
& it 5451421 #| 1790637 #% 7,242,058 #
R f T EE AR 439,390 #& 111,200 # 550,590 &
B AN K. 150 E AR 720,467 & 344,700 #& 1,065,167 #%
2O, HRBRIE 494,208 & 174,710 # 668,918 #&
RNEDH-REERLY 147,400 # 84,040 % 231,440 %
BEREE 3564 #& 1,350 #% 4914 %
REMS 0 % 0 #& 0 #&
- REREMS 0 % 0 #& 0 #&
j‘g REFIETS 0 % 0 % 0 #
= REEHS 100 # 50 # 150 #
RERERS 0 % 0 % 0 %
RAMARER CHlL - REXE) 2,120 #% 0 #& 2,120 #&
EERRMR (FE. EH) 1,344 #% 1,300 # 2,644 &
Z D fth (PCRIAZ V8-, {TIRHSEI%) 7,090 #® 2,090 #% 9,180 #®
AR 0 % 400 # 400 #
& 1,812,119 # 718,490 #& 2,530,609 #&
i % h 3,639,302 #| 1,072,147 % 4711449 %




SH2E12R18ARE
RERFROOFIAIL ABRAE R FAL

MHEAEDHERICRDIKRIZONT

2 BriER
(NSROZATE
X5 E M MATER
ER g |V 25,000 #|12A#
= &t 25,000 %
(2) ERMESEA~ QUMK
X % ET R L J—RI—ILE & &t
ER 1 4,260,000 #* 1,340,200 #* 5,600,200 #%
PERM(GRE - EHE) 16,000 # 1,000 #% 17,000 #%
% RERMH 36,631 # 18,237 # 54,868 #
g REA 1,053,790 #% 429,200 #% 1,482,990 #%
TOMIRE (B8, BRI, FEER) 85,000 #* 2,000 #& 87,000 #*
a it 5,451,421 #& 1,790,637 #% 7,242,058 %
R AE 1R TE EARHEAS 439,390 #% 111,200 #% 550,590 #%
IREE - EAE SR, hHEREE 723,467 # 344,700 #% 1,068,167 #&
ZTDiteERE. BRZEAF 496,908 #* 175,610 #% 672,518 #&
RREDR-REEREE 147,940 % 84,040 & 231,980 #%
BREK 4,002 #% 1,650 #% 5,652 #®
BEME 0 #® 0 #® 0 #®
- Bkl EMs 0 #® 0 #® 0 #®
id REHITR 0 # 0 # 0 #®
% BEEH= 100 #& 50 #& 150 #&
BREERS 0 #® 0 #® 0 #®
RAMZEERCED- RE%E) 2,158 # 0 # 2,158 #
ERRRER (R EE. B 1,744 1,600 # 3,344 #®
Z D fth (PCRIAZ V8-, {TIRHSEI%) 7,190 #® 2,090 #% 9,280 #®
T RABALIEER 0 % 400 #% 400 #®
= B 1,818,897 #% 719,690 # 2,538,587 #&
123 & & 3,632,524 #% 1,070,947 #% 4,703,471 #&




SH2E12R 258 RE
RERFROOFIAIL ABRAE R FAL

MHEAEDHERICRDIKRIZONT

2 BriER
(NSROZATE
X5 E M MATER
ER g |V 25,000 #%|1AH
= &t 25,000 %
(2) ERMESEA~ QUMK
X % ET R L J—RI—ILE & &t
ER 1 4,260,000 #* 1,340,200 #* 5,600,200 #%
PERM(GRE - EHE) 16,000 # 1,000 #% 17,000 #%
% RERMH 36,631 # 18,237 # 54,868 #
g REA 1,053,790 #% 429,200 #% 1,482,990 #%
TOMIRE (B8, BRI, FEER) 85,000 #* 2,000 #& 87,000 #*
a it 5,451,421 #& 1,790,637 #% 7,242,058 %
R AE 1R TE EARHEAS 439,390 #% 111,200 #% 550,590 #%
IREE - EAE SR, hHEREE 726,467 # 345,300 #% 1,071,767 #&
ZTDiteERE. BRZEAF 497,868 #& 176,210 #% 674,078 #&
RREDR-REEREE 148,540 & 84,140 & 232,680 #%
BREK 5157 #® 1,650 #% 6,807 #
BEME 0 #® 0 #® 0 #®
- Bkl EMs 0 #® 0 #® 0 #®
id REHITR 0 # 0 # 0 #®
% BEEH= 100 #& 50 #& 150 #&
BREERS 0 #® 0 #® 0 #®
RAMZEERCED- RE%E) 3313 #& 0 # 3,313 &
ERRRER (R EE. B 1,744 1,600 # 3,344 #®
Z D fth (PCRIAZ V8-, {TIRHSEI%) 7,190 #® 2,090 #% 9,280 #®
T RABALIEER 0 % 400 #% 400 #®
= B 1,824,612 #% 720,990 # 2,545,602 #%
123 & & 3,626,809 #% 1,069,647 #& 4,696,456 K




